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	 1.	 fuEufyf•r esa ls fdl vf/fu;e }kjk fczfV'k bZLV 
bafM;k dEiuh dk Hkkjr esa O;kikfjd ,dkf/dkj lekIr 
fd;k x;k\ 

	 (a)	 1793 dk pkVZj ,DV

	 (b)	 1813 dk pkVZj ,DV

	 (c)	 1833 dk pkVZj ,DV

	 (d)	 1853 dk pkVZj ,DV

	 (e)	 buesa ls dksbZ ugha

	 2- 	f'kokth ds ^v"Vç/ku* esa fuEufyf•r vf/dkjh Fks
	 1- 	etwenkj	 2- 	nchj

	 3- 	okduhl	 4- 	lqjuhl

		 lgh mÙkj pqfu;s %
	 (a)	 1] 2] 3	 (b)	2] 3] 4
	 (c)	 1] 2] 4	 (d)	1] 3] 4
	 (e)	 1] 2] 3] 4
	 3- 	fuEufyf•r esa ls dkSulh tksM+h (eqxydkyhu bekjr 

,oa LFkku) lqesfyr ugha gS\
	 (a)	 'ksj'kkg dk edcjk	 &	lklkjke

	 (b)	 gqek;w¡ dk ed+cjk	 &	fnYyh

	 (c)	 tgk¡xhjh egy	 &	cqjgkuiqj

	 (d)	 cqyan njoktk	 &	iQrsgiqj lhdjh

	 (e)	 chch dk ed+cjk	 &	vkSjaxkckn

	 4- 	iQly vkSj mlds loZ çeq• mRiknd jkT; ds fuEufyf•r 
;qXeksa esa ls dkSulk lgh ugha gS \

	 (a)	 pkoy 	 % 	if'pe caxky

	 (b)	 xsgw¡ 	 % 	mÙkj çns'k

	 (c)	 dikl 	 % 	xqtjkr

	 (d)	 jkbZ ljlks 	 % 	jktLFkku

	 (e)	 buesa ls dksbZ ugha

	 5- 	fuEukafdr esa ls dkSulh unh ?kkVh xksaMokuk ;qxhu dks;yk 
ds HkaMkj dh n`f"V ls lokZf/d egÙoiw.kZ gS \

	 (a) 	lksu unh ?kkVh	 (b) 	egkunh unh ?kkVh
	 (c)	 nkeksnj unh ?kkVh 
	 (d)	 xksnkojh unh ?kkVh
	 (e)	 mijksDr esa dksbZ ugha

	 6- 	,l- ih- pVthZ ds Hkkjr ds çkÑfrd foHkkxksa dh ;kstuk 
(Ldhe) esa egkunh csflu dks egk}hih; iBkj ds fdl 
mifoHkkx esa j•k tkrk gS\

	 (a)	 mÙkjh ndu iBkj

	 (b)	 nf{k.kh ndu iBkj

	 (c)	 iwohZ iBkj
	 (d)	 iwohZ ?kkV
	 (e) 	buesa ls dksbZ ugha

	 1. 	By which of the following regulation British East 
India Company’s trade monopoly in India was 
abolished? 

	 (a)	 Charter Act of 1793
	 (b)	 Charter Act of 1813 
	 (c)	 Charter Act of 1833 
	 (d)	 Charter Act of 1853 
	 (e)	 None of these 
	 2. 	The following were the Officers in the 

‘Ashtapradhan’ of Shivaji : 
	 1. 	 Mazumdar 	 2. 	Dabir 
	 3. 	 Waknis 	 4. 	Surnis
		  Select the correct answer :
	 (a)	 1, 2, 3	 (b)	 2, 3, 4 
	 (c)	 1, 2, 4 	 (d)	 1, 3, 4
	 (e)	 1, 2, 3, 4 
	 3. 	Which of the following pair (building of  Mughal 

period and place) is not correctly matched? 
	 (a)	 Shershah’s Tomb 	 - 	Sasaram
	 (b)	 Humayun’s Tomb 	 - 	Delhi 
	 (c)	 Jahangiri Mahal 	 - 	Burhanpur 
	 (d)	 Buland Darwaza 	 - 	Fatehpur Sikri
	 (e)	 Bibi Ka Maqbara 	 - 	Aurangabad 
	 4. 	Which of the following is not correct pair of crop 

and its leading producing State? 
	 (a)	 Rice 	 : 	West Bengal
	 (b)	 Wheat 	 : 	Uttar Pradesh
	 (c)	 Cotton 	 : 	Gujarat
	 (d)	 Rape and Mustard 	 : 	Rajasthan 
	 (e)	 None of these 
	 5. 	Which one of the following river valleys is most 

important in respect of coal reserves of the 
Gondwana period? 

	 (a)	 The Son river valley
	 (b)	 Mahanadi river valley
	 (c)	 Damodar river valley
	 (d)	 Godavari river valley
	 (e)	 None of the above 
	 6. 	In the scheme of the physiographic division of India 

by S. P. Chatterjee in which sub-division of the 
Peninsular Plateau the Mahanadi Basin is included? 

	 (a)	 The Northern Deccan Plateau
	 (b)	 The Southern Deccan Plateau 
	 (c)	 The Eastern Plateau 
	 (d)	 The Eastern Ghats
	 (e)	 None of these 
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	 7- 	fdl o"kZ dks Hkkjr ds tukafddh dk foHkktd dgk 
tkrk gS\

	 (a)	 1901	 (b)	1921

	 (c)	 1951	 (d)	1971

	 (e)	 buesa ls dksbZ ugha

	 8- 	vf/dkjksa dks ewy vf/dkj D;ksa dgk tkrk gSA D;ksafd

	 i. 	;g lafo/ku esa mfYyf•r gksrk gS

	 ii- 	;g çtkrkaf=kd gksrk gS

	 iii. 	;g yksddY;k.kdkjh gksrk gS

	 iv, 	;g O;fDrRo fodkl ds fy;s vko';d gksrk gS

	 v. 	laln~ blds fo#¼ dkuwu ugha cuk ldrh
	 (a)	 i	 ii	 iii
	 (b)	 i	 iii	 v
	 (c)	 i	 iv	 v

	 (d)	 ii 	 iii	 v

	 (e)	 mi;ZqDr esa ls dksbZ ugha

	 9- 	lafo/kfud la'kks/u çfØ;k ds lanHkZ esa dkSulk lqesfyr 
ugha gS\

	 i. 	dsanz vkSj jkT; dh dk;Zikfydk 'kfDr dk foLrkjA

	 ii. 	lokZsPp vkSj mPp U;k;ky;A

	 iii. 	jk"Vªifr dh fuokZpuA

	 iv. 	jk"Vªifr dh ;ksX;rkA

	 v. 	jk"Vªifr ds in dh 'krZsaA

	 vi. 	jk"Vªifr dk dk;ZdkyA

	 vii. 	dsanz o jkT;ksa ds eè; fo/k;h 'kfDr;ksa dk caVokjkA

	 viii. 	laln~ esa jkT;ksa dk çfrfuf/RoA

	 (a)	 i 	 ii 	 iii
	 (b)	 ii 	 iii 	 iv 
	 (c)	 iii 	 iv 	 v 
	 (d)	 iv 	 v 	 vi 
	 (e)	 vi 	 vii 	 viii

	10- 	fuEukafdr esa ls dkSulh jk"Vªifr dh Lofoosdh 'kfDr;k¡ 
gSa\ 

	 i. 	cgqer ny ds usrk dks ç/kueU=kh fu;qDr djukA

	 ii. 	laln~ dk vf/os'ku cqykukA 

	 iii. 	fdlh fo/s;d dks vkifÙk;ksa lfgr laln~ ds ikl 
okil HkstukA

	 iv. 	eU=khifj"kn~ ds lnL;ksa dh fu;qfDrA 

	 v. 	jkT;iky }kjk Hksts x, fo/s;d ij LohÑfr nsukA

	 vi. 	fdlh fo/s;d dks jksddj j•ukA 

	 vii. 	fdlh fo"k; ls lEcaf/r tkudkjh ds fy;s 
çèkkueU=kh ls dgukA 

	 7. 	Which year is known as ‘Demoqraphic Divide’ in 
India?

	 (a)	 1901 	 (b)	 1921 
	 (c)	 1951 	 (d)	 1971 
	 (e)	 None of these
	 8. 	Why the rights are called Fundamental Rights 

because 
	 i. 	 It is written in the Constitution.
	 ii. 	 It is democratic.
	 iii. 	 It is public welfare.
	 iv. 	 It is essential for personality development. 
	 v. 	 Parliament can’t make law against it. 
	 (a)	 i	 ii	 iii
	 (b)	 i	 iii	 v
	 (c)	 i	 iv	 v
	 (d)	 ii 	 iii	 v 	
	 (e)	 None of the above 
	 9. 	Which is unmatched in the context of  Constitutional 

Amendment Procedure?
	 i. 	 Extension of executive powers of Centre and 

State.
	 ii. 	 Supreme and High Court.
	 iii. 	 Election of President.
	 iv. 	 Qualification of President. 
	 v. 	 Condition of the Office of the President.
	 vi. 	 Tenure of President. 
	 vii. 	 Distribution of Legislative powers in Centre 

and State. 
	 viii. 	 States representation in Parliarnent 
	 (a)	 i 	 ii 	 iii
	 (b)	 ii 	 iii 	 iv 
	 (c)	 iii 	 iv 	 v 
	 (d)	 iv 	 v 	 vi 
	 (e)	 vi 	 vii 	 viii 
	 10.	 Which of the following is the discretionary powers 

of President?
	 i. 	 To appoint Prime Minister to the leader ot 

majority party. 
	 ii. 	 To summon the Parliament.
	 iii. 	 To return a bill to the Parliament with 

objections. 
	 iv. 	 To appoint the members of Council of 

Ministers. 
	 v. 	 To assent the bill referred by Governor.
	 vi. 	 To detain a bill. 
	 vii. 	 To ask the Prime Minister for such 

information related to any matter.
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	 viii. 	fdlh ijke'kZ ij eU=khifj"kn~ ls iqufoZpkj gsrq 
dgukA

a 	 (a)	 i	 ii	 iv 		  vii 
	 (b)	 ii 	 v 	 vi 		  viii 
	 (c)	 i	 iii 	 vi 		  viii 
	 (d)	 ii 	 v 	 vii 		  viii
	 (e)	 iii 	 vi 	 vii 		  viii

	11- 	o"kZ 2011&12 ls 2015&16 dh vof/ esa Hkkjrh; 
vFkZO;oLFkk dh vkfFkZd o`f¼ nj esa lsok {ks=k dk 
;ksxnku gS

	 (a)	 72-4 çfr'kr 	 (b)	50-7 çfr'kr

	 (c)	 69-0 çfr'kr	 (d) 	66-0 çfr'kr

	 (e)	 buesa ls dksbZ ugha

	12- 	pkyw ys•k ?kkVk (CAD) D;k gS\
	  (a) 	cSadksa esa •ksys x, pkyw ys•k esa tek jkf'k ls 

vf/d vkgfjr jkf'k

	 (b) 	pkyw o"kZ esa ljdkjh jktLo ls vf/d ljdkjh 
O;; ls gksusokyk ?kkVk

	 (c)	 ns'k ds dqy fu;kZr ls dqy vk;kr vf/d 
gksusokyk ?kkVk

	 (d)	 oLrq ds cktkj ewY; ls ykxr ewY; vf/d gksus 
ij gksusokyk ?kkVk 

	 (e)	 buesa ls dksbZ ugha

	13- 	fuEufyf•r esa ls D;k lgh <ax ls le>krk gS fd Hkkjr 
vYifodflr vFkZO;oLFkk gS\ 

	 1- 	vk; dk vleku forj.kA

	 2- 	mPp fuHkZjrk njA

	 3- 	jk"Vªh; vk; esa o`f¼ dh /heh njA

	 4- 	cSad o foÙkh; {ks=k esa ifjorZuA

		 uhps fn;s x;s dksM dk ç;ksx djrs gq, lgh mÙkj dk 
p;u dhft;sA

	 (a)	 1] 3 vkSj 4	 (b)	 1] 2 vkSj 4

	 (c)	 1 vkSj 4	 (d)	 mijksDr lHkh

	 (e)	 buesa ls dksbZ ugha

	14- 	v/ksfyf•r esa ls dkSu ,d xhrk dh eq[; f'k{kk gS\

	 (a)	 deZ;ksx	 (b) 	Kku;ksx

	 (c)	 HkfDr;ksx	 (d)	fu"dkedeZ ;ksx

	 (e)	 vLi'kZ ;ksx

	15- 	v/ksfyf•r esa ls dkSu ,d nkjkf'kdksg dh jpuk gS\

	 (a)	 rcdfr ukfljh	 (b)	fdrkcqy fgUn

	 (c)	 rgdhd , fgan	 (d)	eTTemy cuSu

	 (e) 	fljZ , vdcj

	 viii. 	 To say the Council of Ministers for 
reconsideration on any advise.

	 (a)	 i	 ii	 iv 	 vii 
	 (b)	 ii 	 v 	 vi 	 viii 
	 (c)	 i	 iii 	 vi 		  viii 
	 (d)	 ii 	 v 	 vii 		  viii
	 (e)	 iii 	 vi 	 vii 		  viii 
	 11. 	During 2011-12 to 2015-16, the contribution of 

Service Sector in the growth rate of Indian 
economy is 

	 (a)	 72.4 percent
	 (b)	 50.7 percent 
	 (c)	 69.0 percent 
	 (d)	 66.0 percent 
	 (e)	 None of these 
	 12. 	What is Current Account Deficit (CAD)? 
	 (a)	 Excess amount drawn over the total deposit 

amount in Current Accounts of the Banks 
	 (b)	 Deficit due to excess of Govt. expenditure 

over Govt. Revenue in current year 
	 (c)	 Deficit caused due to excess of total  imports 

over total exports during the year 
	 (d)	 Loss due to highest cost of production over 

market price of the commodity 
	 (e)	 None of these 
	 13. 	Which of the following correctly explain that India 

is underdeveloped economy? 
	 1. 	 Inequitable distribution of income. 
	 2. 	 High dependency ratio. 
	 3. 	 Slower rate of increase in national income. 
	 4. 	 Change in banking and financial sector. 
		  Select the correct answer using the codes given 

below.
	 (a)	 1, 3 and 4 	 (b)	 1, 2 and 4
	 (c)	 1 and 4	 (d)	 All of these
	 (e)	 None of these 
	 14. 	Which one of the following is main teaching of 

Gita ? 
	 (a)	 Karma yoga
	 (b)	 Gyan yoga
	 (c)	 Bhakti yoga
	 (d)	 Nishkama karma yoga
	 (e)	 Asparsha yoga 
	 15. 	Which one of the following is authored by Dar 

ashikoha ? 
	 (a)	 Tabkati Nasiri	 (b)	 Kitabul Hind 
	 (c)	 Tahakika y~ Hind 	 (d)	 Mazzmaul Bahnain
	 (e)	 Sirr ye Akabar 
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	 16.	 Which one of the following is highest value 
according to Charvaka ? 

	 (a)	 Dharma	 (b)	 Artha 
	 (c)	 Kama 	 (d)	 Moksha 
	 (e)	 Bhakti 
	 17. 	Which of the following plant is not helpful in 

nitrogen fixation ? 
	 (a)	 Gram	 (b)	 Pea
	 (c)	 Bean	 (d)	 Paddy
	 (e)	 None of the above 
	 18. 	In photosynthesis
	 (a)	 Solar energy converts into heat energy
	 (b)	 Solar energy converts into kinetic energy
	 (c)	 Solar energy converts into potential energy
	 (d)	 Light energy converts into mechanical 

energy
	 (e)	 None of the above 
	 19. 	Out of the following types of iron ore, reserve of 

which type is largest in India ? 
	 (a)	 Hematite
	 (b)	 Magnetite
	 (c)	 Siderite 
	 (d)	 Limonite
	 (e)	 None of these 
	 20. 	Which two countries have constituted 40 million 

USA dollar “Innovation Fund”? 
	 (a)	 India and China
	 (b)	 India and Israel
	 (c)	 India and Myanmar
	 (d)	 India and Japan
	 (e)	 None of these 
	 21. 	Where was “Global Entrepreneurs Summit” 

organised in India in the year 2017? 
	 (a)	 Chennai 	 (b)	 New Delhi 
	 (c)	 Ahmadabad	 (d)	 Hyderabad 
	 (e)	 None of these 
	 22. 	Who is the new Chairman of “ISRO” from the 

following ? 
	 (a)	 R. Hatten	 (b)	 A. S. Kirankumar 
	 (c)	 K. Sivan	 (d)	 P. Kulikrishnan 
	 (e)	 None of the above 
	 23. 	Who has won his 15th Grandslam titre, US open 

male in the year 2017 in Tennis?
	 (a)	 Kevin Anderson
	 (b)	 Rafael Nadal 
	 (c)	 Roger Federer
	 (d)	 Novak Djakovic
	 (e)	 None of these 

	16- 	v/ksfyf•r esa ls dkSu ,d pkokZd ds vuqlkj lokZsPp 
ewY; gS\

	 (a)	 /eZ	 (b)	vFkZ

	 (c)	 dke	 (d)	eks{k

	 (e)	 HkfDr

	17- 	buesa ls dkSulk ikS/k ukbVªkstu fLFkjhdj.k esa lgk;d 
ugha gS\

	 (a)	 puk	 (b) eVj

	 (c) 	lse	 (d) /ku

	 (e)	 mijksDr esa ls dksbZ ugha

	18- 	çdk'k la'ys"k.k esa

	 (a)	 lkSj ÅtkZ m"ek ÅtkZ esa ifjofrZr gksrk gS

	 (b)	 lkSj ÅtkZ xfrt ÅtkZ esa ifjofrZr gksrk gS

	 (c) 	lkSj ÅtkZ fLFkfrt ÅtkZ esa ifjofrZr gksrk gS

	 (d)	 çdk'k ÅtkZ ;kaf=kd ÅtkZ esa ifjofrZr gksrk gS

	 (e) 	mi;ZqDr esa ls dksbZ ugha

	19- 	Hkkjr esa yksg v;Ld ds fuEukafdr çdkjksa esa lokZf/d 
HkaMkj fdldk gS\

	 (a)	 gsesVkbV 	 (b) 	eSXusVkbV

	 (c) 	flMsjkbV	 (d)	fyeksukbV

	 (e)	 buesa ls dksbZ ugha

	20- 	fdu nks ns'kksa us 40 fefy;u vesfjdh Mkyj dk 
^uoçorZu dks"k* dk fuekZ.k fd;k gS\

	 (a) 	Hkkjr vkSj phu	 (b) 	Hkkjr vkSj bljk;y

	 (c) 	Hkkjr vkSj E;kaekj	 (d) 	Hkkjr vkSj tkiku

	 (e)	 buesa ls dksbZ ugha

	21- 	Hkkjr esa oSf'od m|fe;ksa dk lEesyu o"kZ 2017 esa 
dgk¡ vk;ksftr fd;k x;k Fkk\

	 (a)	 psUubZ	 (b)	ubZ fnYyh

	 (c)	 vgenkckn	 (d)	gSnjkckn

	 (e)	 buesa ls dksbZ ugha

	 22. 	¶bljks¸ ds u, ps;jesu fuEu esa ls dkSu gS\

	 (a)	 vkj- gVu	 (b)	,- ,l- fdj.kdqekj

	 (c) 	ds- flou	 (d)	ih- dqyhÑ".ku

	 (e)	 buesa ls dksbZ ugha

	23- 	Vsful esa fdl iq#"k f•ykM+h us viuk 16oka xzSaMLyse 
f•rkc] ;w-,l- vksiu 2017 esa thrk\

	 (a)	 dsfou ,aMjlu	 (b) 	jkiQsy uMky

	 (c) 	jkstj iQsMjj	 (d) 	uksokd tksdksfod

	 (e)	 buesa ls dksbZ ugha
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	 24.	 When was ‘Sagarmala Project’ launched in India? 
	 (a)	 March 2015 	 (b)	 March 2016
	 (c)	 March 2014 	 (d)	 December 2015 
	 (e)	 None of these 
	 25. 	The following were the main events of the year 

1945 :
	 1. 	 Wavell Plan 	 2. 	Simla Conference 
	 3. 	 Naval Mutiny 	 4. 	INA Trial 
		  Select the correct answer :
	 (a)	 1, 2, 3. 	 (b)	 2, 3, 4 
	 (c)	 1, 2, 4  	 (d)	 1, 3, 4
	 (e)	 1, 2, 3, 4 
	 26. 	The following popular movements occurred after 

1857 : 
	 1. 	 Santhal Rebellion 
	 2. 	 Indigo Revolt
	 3. 	 Deccan Agriculturists Riots 
	 4. 	 Birsa Munda Uprising 
		  Select the correct answer : 
	 (a)	 1, 2, 3 	 (b)	 2, 3, 4 
	 (c)	 1, 2, 4  	 (d)	 1, 3, 4
	 (e)	 1, 2, 3, 4 
	 27. 	During the Neolithic Age the earliest evidence of 

the origin of agriculture has been found at which 
of the following place in the North-Western region 
of Indian sub-continent? 

	 (a)	 Mundigak 	 (b)	 Mehargarh 
	 (c)	 Damb Sadat	 (d)	 Balakot
	 (e)	 Amri 
	 28. 	Read the following statements : 
	 1. 	 Har isena was the  famous poet  of 

Samudragupta’s Court. 
	 2. 	 He composed the epic ‘Devichandraguptam’. 
	 3. 	 He was also the author of ‘Prayagaprashasti’. 
		  Select the correct answer :
	 (a)	 1, 2 and 3 are correct
	 (b)	 1 and 2 are correct
	 (c)	 2 and 3 are correct 
	 (d)	 1 and 3 are correct
	 (e)	 Only 1 is correct 
	 29. 	‘Kodaikanal’ is situated in which hill ? 
	 (a)	 Anamalai	 (b)	 Bundi
	 (c)	 Palni 	 (d)	 Amarkantak
	 (e)	 None of these 

	24- 	̂lkxjekyk ifj;kstuk* Hkkjr esa dc ykxw dh x;h Fkh\

	 (a)	 ekpZ 2015	 (b) 	ekpZ 2016

	 (c) 	ekpZ 2014	 (d)	fnlEcj 2015

	 (e)	 buesa ls dksbZ ugha

	25- 	o"kZ 1945 dh çeq• ?kVuk,¡ fuEufyf•r Fkha%

	 1- 	ososy ;kstuk	 2- 	f'keyk lEesyu

	 3- 	ukSlsuk foæksg

	 4- 	vktkn fgan iQkSt eqdnek

		 lgh mÙkj pqfu;s %

	 (a)	 1] 2] 3	 (b) 	2] 3] 4

	 (c)	 1] 2] 4	 (d) 	1] 3] 4

	 (e)	 1] 2] 3] 4

	26- 	1857 ds i'pkr~ fuEufyf•r yksdfç; vkanksyu gq,%

	 1- 	laFkky foæksg

	 2- 	uhy ØkfUr

	 3- 	nD•u Ñ"kdksa ds naxs

	 4- 	fcjlk eqaMk mBko

		 lgh mÙkj pqfu;s %

	 (a)	 1] 2] 3	 (b)	2] 3] 4

	 (c)	 1] 2] 4	 (d)	1] 3] 4

	 (e)	 1] 2] 3] 4

	27- 	uoik"kk.k ;qx esa Hkkjrh; miegk}hi ds mÙkj&if'peh 
{ks=k esa fuEufyf•r esa ls fdl LFkku ij Ñf"k ds vH;qn; 
ds çkjafHkd çek.k çkIr gq, gS\

	 (a)	 eqafM;d	 (b) 	esgjx<+

	 (c)	 nEc lknr 	 (d)	ckykdksV

	 (e)	 vejh

	28- 	fuEufyf•r dFku if<+;s

	 1- 	gfjlsu leqæxqIr ds njckj dk çfl¼ dfo FkkA 

	 2- 	mlus ^nsohpaæxqIre* egkdkO; dh jpuk dhA

	 3- 	og ^ç;kxç'kfLr* dk Hkh jpf;rk FkkA

		 lgh mÙkj pqfu;s %

	 (a) 	1] 2 ,oa 3 lgh gSa 

	 (b)	 1 ,oa 2 lgh gSa

	 (c)	 2 ,oa 3 lgh gSa

	 (d)	 1 ,oa 3 lgh gSa

	 (e)	 dsoy 1 lgh gS

	29- 	̂dksMkbZduky* fdl igkM+h esa fLFkr gS\

	 (a)	 vukeykbZ	 (b) 	cwanh

	 (c)	 ikyuh	 (d) 	vejdaVd

	 (e) 	buesa ls dksbZ ugha
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	 30. 	Match List - I with List - II and select the correct 
answer from the codes given below: 

	 	 List - I 		  List - II 
		  (Tribes)
	 A. 	 Santhals 	 i. 	Tamil Nadu 
	 B. 	 Bhil 	 ii. 	Andaman and 
				    Nicobar 
	 C. 	 Toda 	 iii. 	Jharkhand
	 D. 	 Jarawas 	 iv. 	Ralasthan 
	 Codes:
		  A 		 B 	 C 	 D
	 (a)	 iv 		 iii 	 ii 	 i
	 (b)	 iii 		 iv 	 i	 ii
	 (c)	 i		  ii 	 iii 	 iv 
	 (d)	 ii 		 iii 	 i 	 iv
	 (e)	 None of the above 
	 31.	 Which of the following is the National Water Way 

number 1? 
	 (a)	 Godavari- Krishna Basin Water Way 
	 (b)	 Mahanadi - Brahmani River Water Way
	 (c)	 Brahmaputra River Water Way 
	 (d)	 Ganga - Bhagirathi - Hugll River Water Way
	 (e)	 None of these 
	 32. 	Which one of the following geographical regions 

is the oldest in the country? 
	 (a)	 Himalayan Mountainous Region 
	 (b)	 Great Plains of North India 
	 (c)	 Indian Peninsular Plateau 
	 (d)	 Eastern Coastal Plains 
	 (e)	 None of the above 
	 33.	 Which one of the following is the most wide spread 

category of soils in India?
	 (a)	 Alluvium soils	 (b)	 Black soils 
	 (c)	 Red soils 	 (d)	 Forest soils 
	 (e)	 None of these 
	 34. 	What is meaning of Guillotine in Parliamentary 

Procedure? 
	 (a)	 To stop the debate on the bill
	 (b)	 To continue the debate on the bill 
	 (c)	 Boycott of house by members
	 (d)	 To adjourn the house 
	 (e)	 To adjourn the house for the day 
	 35. 	Which of the following doesn’t take the oath of 

the office? 
	 (a)	 President	 (b)	 Vice President
	 (c)	 Speaker	 (d)	 Prime Minister 
	 (e)	 Members of Council of Ministers 

	30- 	lwph&I dks lwph&II ls lqesfyr dhft, rFkk uhps fn, 
x, dwV ls lgh mÙkj pqfu, %

		  lwph&I (tutkfr)		 lwph&II

	 A. 	la?kky	 i. 	rfeyukMq

	 B. 	Hkhy 	 ii. 	v.Meku&fudksckj

	 C. 	VksMk	 iii. 	>kj•.M

	 D.	 tjkol	 iv. 	jktLFkku

	 dwV %
		  A 		 B 	 C 	 D
	 (a)	 iv 		 iii 	 ii 	 i
	 (b)	 iii 		 iv 	 i	 ii
	 (c)	 i		  ii 	 iii 	 iv 
	 (d)	 ii 		 iii 	 i 	 iv

	 (e)	 mijksDr esa dksbZ ugha

	31- 	fuEufyf•r esa ls dkSulk jk"Vªh; ty ekxZ uacj 1 gS\
	 (a)	 xksnkojh Ñ".k csflu ty ekxZ

	 (b)	 egkunh czkã.kh unh ty ekxZ

	 (c)	 czãiq=k unh ty ekxZ

	 (d)	 xaxk HkxhjFkh MqXyh unh ty ekxZ

	 (e)	 buesa ls dksbZ ugha

	32- 	ns'k esa fuEukafdr esa ls dkSulk HkkSxksfyd {ks=k lcls 
çkphu gS\

	 (a) 	fgeky; dk ioZrh; {ks=k

	 (b) 	mÙkj Hkkjr dk fo'kky eSnku

	 (c)	 Hkkjrh; çk;}hih; iBkj

	 (d)	 iwohZ rVh; eSnku

	 (e) 	mijksDr esa dksbZ ugha

	33- 	fuEukafdr esa ls feV~Vh dk dkSulk oxZ Hkkjr ds lokZf/d 
{ks=k ij iQSyk gS\

	 (a)	 tyks<+ fefêð;ka	 (b) 	dkyh fefêð;ka

	 (c)	 yky fefêð;ka	 (d)	taxyh fefêð;ka

	 (e)	 buesa ls dksbZ ugha

	34- 	lalnh; çfØ;k esa fxyksVhu dk D;k vFkZ gS\
	 (a)	 fo/s;d ij cgl dks cUn dj nsukA 

	 (b)	 fo/s;d ij cgl dks tkjh j•uk

	 (c)	 lnL;ksa }kjk lnu dk cfg"dkj

	 (d)	 lnu dks LFkfxr dj nsuk 

	 (e)	 lnu dks fnu Hkj ds fy;s LFkfxr dj nsuk

	35- 	fuEu esa ls dkSu vius in dh 'kiFk ugha ysrk\
	 (a)	 jk"Vªifr	 (b) 	mijk"Vªifr 

	 (c)	 Lihdj	 (d)	ç/kueU=kh

	 (e)	 eU=khifj"kn~ ds lnL;
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	 36.	  What is correct about external emergency as per 
Article 352? 

	 i. 	 It is proclaimed by the President.

	 ii. 	 It should be approved by Parliament within 
two months.

	 iii. 	 It should be approved by Parliament within 
one month.

	 iv. 	 It should be approved by Parliament by 
simple majority. 

	 v. 	 It should be approved by Parliament by 2/3 
majority. 

	 vi. 	 It can be revoked by simple majority of 
Parliament. 

	 vii. 	 lt can be revoked by 2/3 majority  of 
Parliament.

	 viii. 	 It can be approved in joint session of 
Parliament.

	 (a)	 i	 ii 	 iv 	 viii 

	 (b)	 i	 iii 	 vi 	 viii

	 (c)	 i	 iii 	 v 	 vi

	 (d)	 i 	 iv 	 vii 	 viii

	 (e)	 None of the above 

	 37. 	Which unitary elements are found in Indian Federal 
System?  

	 i. 	 Written Constitution

	 ii. 	 Rigid Constitution 

	 iii. 	 Supremacy of the Constitution

	 iv. 	 Appointment of Governor 

	 v. 	 Decentralisation of Powers

	 vi. 	 President’s approval on state bills 

	 vii. 	 Constitutional Crises

	 viii. 	 One Supreme Court 

	 (a)	 i	 iii 	 vii	

	 (b)	 ii 	 v 	 viii 

	 (c)	 i	 ii 	 v 

	 (d)	 iv 	 vi 	 vii

	 (e)	 None of the above 

	 38. 	Which is the largest item under Non-plan 
Expenditure of Central Government? 

	 (a)	 Defence	 (b)	 Subsidy 

	 (c)	 Interest payment 	 (d)	 Pension

	 (e)	 None of these 

	36- 	vuqPNsn 352 ds vuqlkj ckgk vkikrdky ds fo"k; esa 
lgh u;k gS\

	 i. 	;g jk"Vªifr ds }kjk mn?kksf"kr fd;k tkrk gS

	 ii. 	 nks ekg ds Hkhrj bl ij laln dh LohÑfr fey 
tkuh pkfg, A

	 iii. 	,d ekg ds Hkhrj bl ij laln dh LohÑfr 
fey tkuh pkfg, A

	 iv. 	laln ds lk/kj.k cgqer ls bl ij LohÑfr 
feyuh pkfg,A

	 v, 	 laln ds 2@3 cgqer ls bl ij LohÑfr feyuh 
pkfg,A

	 vi.	 laln ds lk/kj.k cgqer ls bls okil fy;k tk 
ldrk gSA

	 vii. 	laln ds 2@3 cgqer ls bls okil fy;k tk 
ldrk gSA

	 viii. 	 bl ij laln ds la;qDr vf/os'ku esa LohÑfr 
tk ldrh gSA

	 (a)	 i	 ii 	 iv 	 viii 
	 (b)	 i	 iii 	 vi 	 viii
	 (c)	 i	 iii 	 v 	 vi
	 (d)	 i 	 iv 	 vii 	 viii

	 (e) 	mi;ZqDr esa ls dksbZ ugha

	37-	Hkkjrh; la"kh; O;oLFkk esa dkSuls ,dkRed rRo ik, 
tkrs gSa\

	 1- 	fyf•r lafo/ku

	 ii.	 dBksj lafo/ku

	 iii.	 lafo/ku dh lokZsr

	 iv.	 jkT;iky dh fu;qfDr

	 v.	 'kfDr;ksa dk fodsanzhdj.k 

	 vi.	 jkT; fo/s;dksa ij jk"Vªifr dh LohÑfr

	 vii. 	lafo/kfud ladV 

	 viii 	,d lokZsPp U;k;ky;
 	 (a)	 i	 iii 	 vii	
	 (b)	 ii 	 v 	 viii 
	 (c)	 i	 ii 	 v 
	 (d)	 iv 	 vi 	 vii

	 (e) 	mi;qZDr esa ls dksbZ ugh

	38- 	dsanz ljdkj ds xSj&;kstukxr O;; ds vUrxZr lcls 
cM+k en D;k gS\ 

	 (a) 	j{kk	 (b) 	lfClMh

	 (c) 	C;kt Hkqxrku 	 (d)	isU'ku

	 (e)	 buesa ls dksbZ ugha
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	 39. 	Which Central Public Enterprise has borne loss in 
India in the year 2014-15?

	 (a)	 Oil and Natural Gas Corporation (ONGC) 

	 (b)	 National Mineral Development Corporation 

	 (c)	 Bharat Sanchar Nigam Ltd. 

	 (d)	 Coal India Ltd. 

	 (e)	 None of these 

	 40. 	When RBI announced on increase in Cash Reserve 
Ratio (CAR) then what does it mean?

	 (a)	 The Union Government witl have less 
money to lend 

	 (b)	 The RBI will have less money to lend 

	 (c)	 The commercial bank wiH have less money 
to lend 

	 (d)	 All of the above

	 (e)	 None of these 

	 41. 	Arrange the following in chronological order. 
	 1. 	 Nationalisation of 14 major bank 

	 2. 	 Nationalisation of SBl

	 3. 	 Nationalisation of RBI 

	 4. 	 Nationalisation of UC 

	 Codes: 

	 (a)	 3, 2 4, 1 	 (b)	 2, 3, 4, 1

	 (c)	 3, 4 2, 1 	 (d)	 4, 3 2, 1 

	 (e)	 None of these 

	 42. 	Which philosophy accepts ‘Trirama’?
	 (a)	 Buddhism 	 (b)	 Nyaya philosophy 

	 (c)	 Yoga philosophy 	 (d)	 Jainism

	 (e)	 None of these 

	 43. 	Who  has  p ropounded  the  doc t r ine  o f 
momentariness?  

	 (a)	 Buddha 	 (b)	 Jaina 

	 (c)	 Charvaka	 (d)	 Nyaya 

	 (e)	 None of these 

	 44. 	Anatmevada (no-self) is the doctrine of. 
	 (a)	 Sarikhya 	 (b)	 Vedanta 

	 (c)	 Buddhism	 (d)	 Jainism 

	 (e)	 None of these 

	 45. 	Which acid is present in Acid Rain ?
	 (a)	 Benzoic acid 	 (b)	 Acetic acid

	 (c)	 Nitric acid	 (d)	 Oxalic acid 

	 (e)	 None of the above 

	39- 	ns'k esa o"kZ 2014&15 esa fdl dsanzh; lkoZtfud miØe 
dks gkfu gqbZ gS\

	 (a)	 rsy ,oa çkÑfrd xSl fuxe 

	 (b) 	jk"Vªh; •fut fodkl fuxe

	 (c)	 Hkkjr lapkj fuxe fyfeVsM

	 (d)	 dks;yk bafM;k fyfeVsM 

	 (e)	 buesa ls dksbZ ugha

	40- 	tc Hkkjrh; fjtoZ cSad dS'k fjtoZ jsf'k;ks (CRR) esa 
o`f¼ dh ?kks"k.kk djrk gS rc bldk vFkZ gS 

	 (a) 	la?kh; ljdkj ds ikl m/kj nsus ds fy;s de 
eqæk jgsxh

	 (b)	 Hkkjrh; fjtoZ cSad ds ikl m/kj nsus ds fy;s 
de eqæk jgsxh 

	 (c)	 O;kikfjd cSadksa ds ikl m/kj nsus gsrq de eqæk 
jgsxh

	 (d)	 mi;ZqDr lHkh

	 (e)	 buesa ls dksbZ ugha

	41- 	fuEufyf•r dks dkyØfed vk/kj ij foU;kl djsaA 
	 1. 	 14 çeq• cSadksa dk jk"Vªh;dj.k

	 2. 	 SBI dk jk"Vªh;dj.k

	 3. 	 RBI dk jk"Vªh;dj.k

	 4. 	 LIC dk jk"Vªh;dj.k

		  dksM %
	 (a) 	3] 2] 4] 1	 (b)	2] 3] 4] 1

	 (c)	 3] 4] 2] 1	 (d)	4] 3] 2] 1

	 (e)	 buesa ls dksbZ ugha

	42- 	dkSulk n'kZu f=kjRu dks ekurk gS\
	 (a) 	ckS¼ n'kZu	 (b) 	U;k; n'kZu

	 (c)	 ;ksx n'kZu	 (d)	tSu n'kZu

	 (e)	 buesa ls dksbZ ugha

	43-	^{kf.kdokn* dk çfriknu fdlus fd;k\
	 (a)	 cq¼	 (b)	tSu

	 (c)	 pkokZd	 (d)	U;k;

	 (e)	 buesa ls dksbZ ugha

	44- 	vukReokn fl¼kUr gS
	 (a)	 lka[; dk	 (b)	osnkUr dk

	 (c)	 ckS¼ n'kZu dk	 (d)	tSu n'kZu dk

	 (e)	 buesa ls dksbZ ugha

	45-	vEy o"kkZ esa dkSu vEy mifLFkr jgrk gS\
	 (a)	 csatksbd vEy	 (b)	,lhfVd vEy

	 (c)	 ukbfVªd vEy	 (d) 	vkWDtsfyd vEy

	 (e) 	mijksDr esa ls dksbZ ugha
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	 46. 	Which one of the f ollowing industries uses 
limestone as a principal raw material?

	 (a)	 Aluminium	 (b)	 Cement
	 (c)	 Fertilizer 	 (d)	 Ferromanganese 
	 (e)	 None af the above 
	 47. 	In which rank, Nirmala Sita-Raman is female 

Defence Minister in India? 
	 (a)	 First	 (b)	 Second
	 (c)	 Third 	 (d)	 Fourth
	 (e)	 None of these 
	 48. 	During which period, the 18th Asian games-2018 

will be organised in Indonesia? 
	 (a)	 2 August to 17 Augu~t 2018 
	 (b)	 8 August to 23 Augu~t 2018
	 (c)	 18 August to 2 September 2018 
	 (d)	 22 August to 6 Septe·mber 2018
	 (e)	 None of these 
	 49. 	As of January 2018, who is India’s all time leading 

scorer in football? 
	 (a)	 Jeje Lal Pekhlua ·	 (b)	 Baichung Bhutia
	 (c)	 Sunil Chhetri	 (d)	 Balwant Singh
	 (e)	 None of these 
	 50. 	At which place ‘World Shipping Forum (WSF) 

2017” is organised in India? 
	 (a)	 Goa	 (b)	 Chennai 
	 (c)	 Paradip	 (d)	 Cochin 
	 (e)	 None of these 
	 51. 	Which writer of Chhattisgarh translated 

Shakespeare’s drama “Comedy of Errors” in 
Chhattisgarh ?

	 (a)	 Pt. Sundarlal Sharma
	 (b)	 Pt. Madhav Rao Sapre 
	 (c)	 Shuklal Prasad Shukla 
	 (d)	 Swaraj Prasad Trivedi
	 (e)	 None of the above 
	 52. 	What was the name of the ruler of Kasal in 

Samudragupta’s “Prayag Prashasti’’? 
	 (a)	 Shiv Gupta	 (b)	 Someshwar Dea 
	 (c)	 Mahendra 	 (d)	 Mahipal
	 (e)	 None of these 
	 53. 	What was the designation of the Chief Revenue 

Officer during Kalchuri period in Chhattisgarh ? .
	 (a)	 Mahabaladhikrit 	 (b)	 Akshpatalik
	 (c)	 Mahapramat 	 (d)	 Revenue Secretary
	 (e)	 None of the above 

	46- 	fuEukafdr esa ls dkSulk m|ksx pwuk iRFkj dks eq[; 
dPpk eky ds :i esa mi;ksx djrk gS\

	 (a)	 ,sY;wehfu;e	 (b)	lhesaV
	 (c)	 moZjd	 (d)	isQjkseSaxuht
	 (e) 	mijksDr esa ls dksbZ ugha

	47- 	fueZyk lhrkjeu Hkkjr esa fdl Øe dh efgyk j{kk 
ea=kh gSa\

	 (a)	 çFke	 (b)	f}rh;
	 (c) 	r`rh;	 (d) 	prqFkZ
	 (e)	 buesa ls dksbZ ugha

	48- 	b.Mksusf'k;k esa vk;ksftr gksus okys 18osa ,f'k;u •sy& 
2018 fdl vof/ esa gksaxs\

	 (a)	 2 vxLr ls 17 vxLr 2018

	 (b)	 8 vxLr ls 23 vxLr 2018

	 (c)	 18 vxLr ls 2 flrEcj 2018

	 (d)	 22 vxLr ls 6 flrEcj 2018

	 (e)	 buesa ls dksbZ ugha

	49- 	tuojh 2018 rd fdl Hkkjrh; f•ykM+h iQqVckWy esa 
lcls T;knk xksy fd, gSa\

	 (a)	 tsts yky is•yqvka	 (b)	ckbpqax HkqfV;k
	 (c)	 lquhy Ns=kh	 (d)	cyoUr flag
	 (e)	 buesa ls dksbZ ugha

	50- 	̂oYMZ f'kfiax iQksje 2017* dk vk;kstu Hkkjr esa fdl 
LFkku ij fd;k x;k gS\

	 (a)	 xksok	 (b)	psUubZ
	 (c)	 ikjknhi 	 (d)	dksfpu

	 (e)	 buesa esa ls dksbZ ugha

	51- 	NÙkhlx<+ ds fdl ys•d us 'ksDlfi;j ds ukVd ̂ dkWesMh 
vkWiQ ,jlZ* dk NÙkhlx<+h esa vuqokn fd;k Fkk\

	 (a)	 ia- lqUnjyky 'kekZ
	 (b)	 ia- ek/ojko lçs
	 (c)	 'kqdyky çlkn 'kqDy 

	 (d)	 Lojkt çlkn f=kosnh
	 (e)	 mijksDr esa ls dksbZ ugha

	52- 	leqæxqIr ds ^ç;kx ç'kfLr* esa dksly ds 'kkld dk 
D;k uke Fkk\

	 (a)	 f'koxqIr	 (b)	lkses'oj nso
	 (c)	 egsUæ	 (d)	efgiky
	 (e)	 buesa ls dksbZ ugha

	53- 	NÙkhlx<+ ds dypqfj jkT; dk çeq• yxku vf/dkjh 
dk in uke D;k Fkk\

	 (a)	 egkcykf/Ñr	 (b)	v{kiVfyd

	 (c)	 egkçekr~	 (d)	jktLo lfpo
	 (e)	 mijksDr esa ls dksbZ ugha
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	 54. 	Match List - 1 with List - 2. 
	 	 List-1		  List- 2 
		  (Participants in the		  (Places) 
		  individual Satyagraha) 
	 A.	 Acharya Vinoba 	 1. 	Pawnar 
		  Bhave
	 B. 	 Yatiyatanlal Jain	 2. 	Durg 
	 C. 	 Ramgopal Tiwari 	 3. 	Raipur 
	 D.	 Ratnakar Jha	 4. 	Bilaspur 
			   A	 B	 C	 D
	 (a)		  1	 3	 4	 2
	 (b)		  1	 2	 3	 4
	 (c)		  1	 4	 3	 2
	 (d)		  1	 3	 2	 4
	 (e)		  1	 4	 2	 3
	 55. 	What average annual growth rate of Gross State 

Domestic Producer of Chhattisgarh State is 
estimated advance at constant prices in 12th Five 
Year Plan?

	 (a)	 7.13 percent 	 (b)	 7.23 percent 
	 (c)	 7.33 percent	 (d)	 7.43 percent
	 (e)	 None of these 
	 56. 	What per capita income is estimated at constant 

prices of 2011-12 in Chhattisgarh for the year 
2016-17? 

	 (a)	 ₹ 91,112 	 (b)	 ₹ 94,862 
	 (c)	 ₹ 1,03,870 	 (d)	 ₹ 86,860 
	 (e)	 None of these 
	 57. 	From which year “Submission Yojana on 

Agriculture Mechanism” is implemented in 
Chhattisgarh State? 

	 (a)	 2012-13	 (b)	 2013-14
	 (c)	 2014-15	 (d)	 2015-16 
	 (e)	 None of these 
	 58. 	From which year farmers are given agricultural 

loan on zero interest in Chhattisgarh State ? 
	 (a)	 2013-14 	 (b)	 2012-13 
	 (c)	 2011-12 	 (d)	 2014-15 
	 (e)	 None of these 
	 59. 	What contribution of forest is estimated in Gross 

State Domestic Product of Chhattisgarh State for 
the year 2016-17? 

	 (a)	 2.87%	 (b)	 2.31% 
	 (c)	 2.5% 	 (d)	 1.95% 
	 (e)	 None of these

	54- 	lwph 1 dks lwph & 2 ls lqesfyr dhft,A

		  lwph&1		 lwph&2

		  (O;fDrxr lR;kxzg esa 		(LFkku)

		  Hkkx ysusokys) 

	 A 	vkpk;Z fouksck Hkkos	 1. 	ioukj

	 B. 	;fr;ruyky tSu 	 2- 	nqxZ

	 C. 	jkexksiky frokjh	 3- 	jk;iqj

	 D. 	jRukdj >k	 4- 	fcykliqj
			   A	 B	 C	 D
	 (a)		  1	 3	 4	 2
	 (b)		  1	 2	 3	 4
	 (c)		  1	 4	 3	 2
	 (d)		  1	 3	 2	 4
	 (e)		  1	 4	 2	 3

	55- 	NÙkhlx<+ jkT; ds ldy ?kjsyw mRikn esa ckjgosa iapo"khZ; 
;kstuk esa fLFkj ewY;ksa ij vkSlr okf"kZd vkfFkZd o`f¼ 
nj D;k vuqekfur dh x;h gS\

	 (a)	 7-13 çfr'kr	 (b)	7-23 çfr'kr 

	 (c)	 7-33 çfr'kr	 (d) 	7-43 çfr'kr

	 (e)	 buesa ls dksbZ ugha

	56- 	NÙkhlx<+ jkT; esa çfrO;fDr vk; o"kZ 2011&12 ds 
fLFkj dherksa nj o"kZ 2016&17 ds fy;s D;k vuqekfur 
dh x;h gS\ 

	 (a)	 ₹91]772@	 (b)	₹94]862 

	 (c)	 ₹1]03]870	 (d)	₹86]860 

	 (e) 	buesa ls dksbZ ugha

	57- 	NÙkhlx<+ jkT; esa Ñf"k ;kaf=kdhdj.k ij lcfe'ku ;kstuk 
dc ls fØ;kfUor dh tk jgh gS\

	 (a)	 2012&13	 (b) 	2013&14

	 (c)	 2014&15	 (d)	2015&16

	 (e)	 buesa ls dksbZ ugha

	58- 	NÙkhlx<+ esa 'kwU;C;kt ij Ñf"k ½.k fdlkuksa dks fdl 
o"kZ ls fn;k tk jgk gS\

	 (a)	 2013&14	 (b)	2012&13 

	 (c)	 2011&12	 (d)	2014&15

	 (e)	 buesa ls dksbZ ugha

	59- 	o"kZ 2016&17 esa NÙkhlx<+ jkT; ds ldy ?kjsyw mRikn 
esa okfudh dk ;ksxnku D;k vuqekfur fd;k x;k gS\

	 (a)	 2-87» 	 (b)	2-31»

	 (c)	 2-5»	 (d)	1-95»

	 (e)	 buesa ls dksbZ ugha
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	 60. 	How many water harvesting system was targeted 
for tho year 2015-16 under the Community water 
Rosources Sources Development In C.G.? 

	 (a)	 125	 (b)	 100 

	 (c)	 75	 (d)	 50

	 (e)	 None of these 

	 61. 	Which pulse has recorded maximum production 
in Chhattisgarh State in the year 2015-16?

	 (a)	 Arahar	 (b)	 Mung 

	 (c)	 Urad	 (d)	 Gram 

	 (e)	 None of these 

	 62. 	In which year the production of coal has declined 
as compared to previous year in Chhattisgarh 
during the period 2012-13 to 2015-16? 

	 (a)	 2012-13	 (b)	 2013-14

	 (c)	 2014-15	 (d)	 2015-16 

	 (e)	 None of these 

	 63. 	In which year the value of mineral production of 
Chattisgarh state is the maximum percentage of 
the value of mineral production of All India during  
2012-13 to 2016-17 October period ?

	 (a)	 2012-13 	 (b)	 2013-14 

	 (c)	 2015-16	 (d)	 2016-17 Oct.

	 (e)	 None of these 

	 64.	 In which place the Apparel Training and Designing 
Centres are not established in Chhattisgarh? 

	 (a)	 Raipur  	 (b)	 Bilaspur

	 (c)	 Bhilai	 (d)	 Rajnandgaon 

	 (e)	 None of these 

	 65.	 In which state, the first ‘’Yoga Commission of 
Nation” is established?

	 (a)	 Uttarkhand	 (b)	 Bihar 

	 (c)	 Chhattisgarh	 (d)	 Gujarat 

	 (e)	 None of these 

	 66. 	What average annual growth rate at constant prices 
was fixed as target for Chhattisgarh State in 
Twelfth five year plan? 

	 (a)	 6.5 percent	 (b)	 8.13 percent

	 (c)	 8.5 percent	 (d)	 7 .5 percent

	 (e)	 None of these 

	60- 	N-x- esa lkeqnkf;d ty lalk/u lzksrksa ds fodkl ds 

vUrxZr o"kZ 2015&16 esa fdrus okVj gkoZsfLVax flLVe 

dk y{; j•k x;k gS\

	 (a)	 125 	 (b) 	100

	 (c)	 75	 (d) 	50

	 (e)	 buesa ls dksbZ ugha

	61- 	NÙkhlx<+ jkT; esa fdl nygu dk o"kZ 2015&16 esa 

lcls vf/d mRiknu gqvk Fkk\

	 (a) 	vjgj	 (b)	ewax

	 (c)	 mM+n	 (d)	puk

	 (e)	 buesa ls dksbZ ugha

	62- 	NÙkhlx<+ jkT; esa dks;yk dk mRiknu o"kZ 2012&13 ls 

2015&16 dh vof/ esa fdl o"kZ fiNys o"kZ dh rqyuk 

esa ?kVk gS\

	 (a)	 2012&13	 (b)	2013&14 

	 (d)	 2015&16	 (c)	2014&15

	 (e)	 buesa ls dksbZ ugha

	63-	NÙkhlx<+ jkT; ds •fut mRiknu dk ewY;] vf•y 

Hkkjr ds dqy mRiknu ewY; dk lcls vf/d çfr'kr 

o"kZ 2012&13 ls 2016&17 vDVwcj rd dh vof/ esa 

fdl o"kZ jgk gS\

	 (a)	 2012&13	 (b) 	2013&14 

	 (c) 	2015&16	 (d)	2016&17 Oct.

	 (e)	 buesa ls dksbZ ugha

	64- 	NÙkhlx<+ esa visjy Vªsfuax ,oa fMtkbfuax lsaVj dgk¡ 

LFkkfir ugha fd;k x;k gS\

	 (a)	 jk;iqj	 (b)	fcykliqj

	 (c)	 fHkykbZ	 (d)	jktukanxk¡o

	 (e)	 buesa ls dksbZ ugha

	65- 	ns'k dk igyk ;ksx vk;ksx fdl jkT; esa LFkkfir fd;k 

x;k gS\

	 (a)	 mÙkjk•.M	 (b) 	fcgkj

	 (c)	 NÙkhlx<+	 (d) 	xqtjkr

	 (e)	 buesa ls dksbZ ugha

	66- 	ckjgoh iapo"khZ; ;kstuk esa NÙkhlx<+ ds fy;s m|ksx 

dk vkSlr okf"kZd o`f¼ nj fLFkj dherksa ij D;k y{; 

fu/kZfjr fd;k x;k Fkk\

	 (a)	 6-5 çfr'kr	 (b)	8-13 çfr'kr

	 (c) 	8-5 çfr'kr	 (d) 	7-5 çfr'kr

	 (e)	 buesa ls dksbZ ugha
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	 67. 	If the President of Zilla Panchayat is suspended, 
what will be happened? 

	 (a)	 The Vice President of Zilla Panchayat will 
be act as acting President

	 (b)	 The Vice President will become President 

	 (c)	 The office of the President will be vacant 

	 (d)	 The members will elect President temporarily 

	 (e)	 None of the above 

	 68. 	What is correct about the tenure of municipal 
council? 

	 i. 	 The tenure of municipal council is counted 
from the date of declaration of election 
result.

	 ii. 	 The tenure of municipal council is counted 
from the date of its first meeting. 

	 iii. 	 The tenure of municipal council is 5 years. 

	 iv. 	 If municipal council is dissolved in two 
years, then new municipal council will be 
organised for three years. 

	 v. 	 If municipal council is dissolved in two 
years, then new municipal council will be 
organised for 5 years. 

	 (a)	 i 		  iii 	 v

	 (b)	 ii 		 iii 	 iv 

	 (c)	 i 		  iii 	 iv 

	 (d)	 ii 		 iii 	 v

 	 (e)	 None of the above 

	 69. 	When the Sarpanch of Gram Panchayat is elected 
indirectly? (According to Chhattisgarh Panchayati 
Raj Act, 1993 Article 13) 

	 (a)	 When the Sarpanch tenders his resignation 

	 (b)	 When the Sarpanch is recalled

	 (c)	 When the Sarpanch is dismissed

	 (d)	 When the election of Sarpanch is pending

	 (e)	 All the above 

	 70·	 If a Councillor as a legal practitioner  acts on behalf 
of any other person against the Municipal Council, 
what will be happened?

	 (a)	 Collector will remove him from the office

	 (b)	 Councillor can act as a legal practitioner  

	 (c)	 Councillor will remain his office

	 (d)	 It is a privilege of the Councillor 

	 (e)	 None of the above  

	67- 	;fn ftyk iapk;r dk vè;{k fuyafcr gks tk; rks D;k 
gksxk\

	 (a)	 ftyk iapk;r dk mikè;{k dk;Zokgd vè;{k ds 
:i esa dk;Z djsxk

	 (b)	 ftyk dk mikè;{k vè;{k cu tk,xk

	 (c)	 vè;{k dk in fjDr jgsxk

	 (d) 	lnL;x.k LFkkuki=k vè;{k dk fuokZpu djsaxs

	 (e)	 mi;ZqDr esa ls dksbZ ugha

	68-	ikfydk dh vof/ ds fo"k; esa lgh D;k gS\ 

	 i. 	uxjikfydk dh vof/ dh x.kuk fuokZpu ifj.kke 
dh ?kks"k.kk dh frfFk ls dh tkrh gSA

	 ii.	 uxjikfydk dh vof/ dh x.kuk çFke lfEeyu 
dh frfFk ls dh tkrh gSA

	 iii.	 uxjikfydk dh vof/ 5 o"kZ gksrh gSA

	 iv. 	;fn uxjikfydk 2 o"kZ esa fo?kfVr dj nh xbZ 
rks ubZ uxjikfydk 3 o"kZ dh vof/ ds fy;s 
xfBr dh tk,xhA

	 v. 	;fn uxjikfydk 2 o"kZ esa fo?kfVr dj nh xbZ 
rks ubZ uxjikfydk 5 o"kZ dh vof/ ds fy;s 
xfBr dh tk,xhA

	 (a)	 i 		  iii 	 v
	 (b)	 ii 		 iii 	 iv 
	 (c)	 i 		  iii 	 iv 
	 (d)	 ii 		 iii 	 v

	 (e)	 mi;ZqDr esa ls dksbZ ugha

	69-	xzke iapk;r dk ljiap dc vçR;{k :i ls fuokZfpr 
fd;k tkrk gS\ (NÙkhlx<+ iapk;rjkt vf/- 1993 dh 
/kjk 13 ds vuqlkj)

	  (a) 	tc ljiap in ls R;kxi=k ns nsrk gSA

	 (b)	 tc ljiap çR;kofrZr dj fn;k tkrk gSA

	 (c)	 tc ljiapin dj fn;k tkrk gS

	 (d)	 tc ljiap dk pquko yfEcr gks 

	 (e)	 mi;ZqDr lHkh

	70- 	;fn ,d ik"kZn fof/ O;olk;h gksrs gq, fdlh vU; 
O;fDr dh vksj ls uxjikfydk ifj"kn ds fo#¼ dk;Z 
djrk gS] rks D;k gksxk\ 

	 (a)	 dysDVj mls in ls gVk nsxk

	 (b)	 ik"kZn ,d fof/ O;olk;h ds :i esa dk;Z dj 
ldrk gS

	 (c)	 ik"kZn vius in ij cuk jgsxk

	 (d)	 ;g ik"kZn dk fo'ks"kkf/dkj gS

	 (e)	 mi;ZqDr esa ls dksbZ ugha
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	 71. 	The crossing point of tropic of cancer and Indian 
Standard Time in Chhattisgarh is

	 (a)	 Korba	 (b)	 Balrampur 
	 (c)	 Surguja 	 (d)	 Surajpur
	 (e)	 Raigarh 
	 72. 	Which district of Chhattisgarh has highest "Human 

Development Index”? 
	 (a)	 Korba	 (b)	 Mahasamund
	 (c)	 Durg 	 (d)	 Raipur
	 (e)	 None of the above 
	 73. 	Northern boundary of which State form Southern 

boundary of Chhattisgarh State? 
	 (a)	 Uttar Pradesh	 (b)	 Odisha
	 (c)	 Andhra Pradesh	 (d)	 Telangana 
	 (e)	 Jharkhand 
	 74. 	In which district “Sita lekhani” hill located? 
	 (a)	 Bastar	 (b)	 Narayanpur 
	 (c)	 Koriya	 (d)	 Surajpur 
	 (e)	 None of these 
	 75. 	Who is the particularly backward tribal group in 

Raipur division?  
	 (a)	 Binjhwar	 (b)	 Kanwar 
	 (c)	 Kamar	 (d)	 Halba 
	 (e)	 None of these 
	 76. 	Match List-1 (British Superintendences of 

Chhattisgarh) with List - 2 (Main events of their 
times).

	 	 List - 1 		  List - 2 
	 A. 	 Capt. Edmund 	 1. 	Transfer of capital 
				    from Ratanpur to
				    Raipur
	 B. 	 Col. P. Vans Agnew	 2. 	Revolt in
				    Dongargarh 
				    Zamindari 
	 C. 	 Mr. Sandice 	 3. 	End of British  
				    protectorate
	 D. 	 Mr. Crawfurd 	 4. 	Conflict between
				    Bastar and 
				    Karonde 
				    Zamindaris
			   A 	 B 	 C 	 D
	 (a)		  2 	 1 	 4 	 3 
	 (b)		  2 	 3	  1 	 4
	 (c)		  2 	 4 	 3 	 1
	 (d)		  2 	 1 	 3 	 4 
	 (e)		  2 	 3 	 4 	 1 

	71- 	NÙkhlx<+ esa Hkkjrh; ekud le; ,oa ddZ js•k dk 
dVko fcUnw gS

	 (a)	 dksjck	 (b)	cyjkeiqj 

	 (c)	 ljxqtk	 (d)	lwjtiqj

	 (e)	 jk;x<+

	72- 	NÙkhlx<+ ds fdl ftys esa ¶ekuo fodkl lwpdkad¸ 
lokZf/d gS\

	 (a)	 dksjck	 (b)	egkleqUn

	 (c)	 nqxZ 	 (d)	jk;iqj

	 (e)	 mi;ZqDr esa ls dksbZ ugha

	73- 	fdl jkT; dh mÙkjh lhek NÙkhlx<+ jkT; dh nf{k.kh 
lhek dks fu/kZfjr djrh gS\ 

	 (a)	 mÙkj çns'k	 (b) 	mfM+lk

	 (c)	 vkU/zçns'k 	 (d)	rsyaxkuk

	 (e)	 te•aM

	74- 	fdl ftys esa ¶lhrk ys•uh¸ igkM+ gS\

	 (a)	 cLrj	 (b) 	ukjk;uiqj

	 (c) 	dksfj;k	 (d)	lwjtiqj

	 (e)	 buesa ls dksbZ ugha

	75- 	jk;iqj laHkkx dh fo'ks"k fiNM+h tkfr dkSu gS\

	 (a)	 f'kokj	 (b)	daoj

	 (c)	 dekj	 (d)	gyck

	 (e)	 buesa ls dksbZ ugha

	76- 	lwph&1 (NÙkhlx<+ ds fczfV'k lqifjVsaMsaV) dks lwph&2 
(muds le; dh çeq• ?kVukvksa ls lqesfyr dhft;sA

	 	 lwph&1		 lwph&2

	 A. 	dSIVu ,MeaM	 1. 	jruiqj ls

				   jk;iqj jkt/kuh 

				   ifjorZu

	 B. 	duZy ih- okUl	 2- 	Mksaxjx<+ tehankjh

		  ,XU;w		 esa foæksg

	 C. 	fe- lSafMl	 3- 	fczfV'k laj{k.k dh 

				   lekfIr

	 D. 	fe- ØkWiQMZ	 4- 	cLrj vkSj djkSan

				   tehankfj;ksa ds

				   chp fookn
		  A 		 B 	 C 	 D
	 (a)		  2 	 1 	 4 	 3 
	 (b)		  2 	 3	  1 	 4
	 (c)		  2 	 4 	 3 	 1
	 (d)		  2 	 1 	 3 	 4 
	 (e)		  2 	 3 	 4 	 1 
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	 77. 	Ratnakar Jha was freedom fighter of which place? 
	 (a)	 Raipur 	 (b)	 Rajnandgaon 
	 (c)	 Bilaspur	 (d)	 Raigarh 
	 (e)	 None of these 
	 78. 	Which of the following pair (organization and 

person) is correctly matched?
	 (a)	 Satyagraha Ashram, 	 – 	Mahant 
		  Raipur 1921 		  Laxminarayan
				    Das 
	 (b)	 National Panchayat, 	 –	 Jaikaran Daga	

Raipur 1921 
	 (c)	 Khadi Ashram,	 – 	Chhotelal 
		  Dhamtari 1922		  Shrivastava 
	 (d)	 National Youth 	 –	 Bhagwandin	

League, 
		  Bilaspur 1922
	 (e)	 Tahsil Congress	 –	 Thakur  
		  Committee, 		  Chhedilal
		  Janjgir 1922 
	 79. 	What is the trend of contribution of service sector 

in State Gross Domestic Product (SGDP) ot 
Chhattisgarh State at constant prices during the 
period 2011-12 to 2016-17? 

	 (a)	 Decreasing	 (b)	 Increasing
	 (c)	 Constant	 (d)	 Erratic 
	 (e)	 None of these 
	 80. 	How much loan amount will be granted by bank 

under “Pradhan Mantri Mudra  Yolana” for 
industry, business and service under “Kishor 
enterprise”? 

	 (a)	 ₹ 50,000 
	 (b)	 More than ₹ 50,000 and upto ₹ 1,00,000 
	 (c)	 More than ₹ 1,00 ,000 and upto ₹ 5,00,000 
	 (d)	 More than ₹ 50,000 and upto ₹ 5,00,000  
	 (e)	 None of these 
	 81.	 What is share of direct taxes in total tax-revenue 

of Chhattisgarh State in the 2016-17 Budget?
	 (a)	 68.56% 
	 (b)	 56.68% 
	 (c)	 31.44% 
	 (d)	 44.31%
	 (e)	 None of these 
	 82. 	Which is not included in “Assured Irrigation Area 

Extension Scheme”? 
	 (a)	 Shakambhari 
	 (b)	 Kisan-Samriddhi Tubewell
	 (c)	 Micro Irrigation Pond 
	 (d)	 Aniket
	 (e)	 None of these 

	77- 	jRukdj >k fdl LFkku ds Lora=krk laxzke lsukuh Fks\

	 (a)	 jk;iqj	 (b) 	jktukanxkao

	 (c)	 fcykliqj	 (d)	jk;x<+

	 (e)	 buesa ls dksbZ ugha

	78- 	fuEufyf•r esa ls dkSulh tksM+h (laxBu ,oa O;fDr) 
lqesfyr gS\

	 (a)	 lR;kxzg vkJe]	 &	egar y{ehukjk;.k
		  jk;iqj 1921 		 nkl

	 (b)	 jk"Vªh; iapk;r]	 &	t;dj.k Mkxk
		  jk;iqj 1921

	 (c)	 •knh vkJe] 	 &	NksVsyky JhokLro
		  /erjh 1922

	 (d)	 jk"Vªh; ;qod la?k]	 &	Hkxokunhu
		  fcykliqj 1922 

	 (e)	 rglhy dkaxzsl desVh] 	&	Bkdqj Nsnhyky
		  tkatxhj 1922

	79- 	NÙkhlx<+ jkT; ds ldy ?kjsyw mRikn esa fLFkj dherksa 
ij o"kZ 2011&12 ls 2016&17 dh vof/ esa lsok {ks=k 
ds ;ksxnku dh ço`fÙk D;k gS\

	 (a)	 ?kVus dh	 (b)	c<+us dh

	 (c)	 fLFkj jgus dh	 (d)	mrkj&p<+ko ls ;qDr

	 (e)	 buesa ls dksbZ ugha

	80- 	̂ç/kuea=kh eqæk ;kstuk* ds varxZr lw{e Js.kh ds m|ksx] 
O;olk; o lsok gsrq cSadksa ls fdruk ½.k jkf'k ^fd'kksj 
O;olk;* ds fy;s çkIr gks ldrk gS \

	 (a)	 ₹50]000

	 (b)	 ₹50]000 ls vf/d ,oa 1]00]000 rd

	 (c) 	₹1]00]000 ls vf/d ,oa 5]00]000 rd

	 (d)	 ₹50]000 ls vf/d ,oa 5]00]000 rd

	 (e) 	buesa ls dksbZ ugha

	81- 	NÙkhlx<+ jkT; ds o"kZ 2016&17 ds ctV esa jkT; ds 
dqy dj & jktLo esa çR;{k dj dk fgLlk D;k gS\

	 (a)	 68-56 çfr'kr	 (b)	56-68 çfr'kr

	 (c) 	31-44 çfr'kr	 (d) 	44-31 çfr'kr

	 (e) 	buesa ls dksbZ ugha

	82- 	lqfuf'pr flapkbZ {ks=k foLrkj ;kstuk esa fdls 'kkfey 
ugha fd;k x;k gS\

	 (a)	 'kkdEHkjh	

	 (b)	 fdlku le`f¼ uydwi

	 (c)	 y?kqÙke flapkbZ rkykc

	 (d)	 ,uhdsV

	 (e)	 buesa ls dksbZ ugha
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	 83. 	Which is not included in “National Agricultural 
Development Yojana”? 

	 (a)	 Soil Test Lab
	 (b)	 Fertilizer’s Quality Control Lab
	 (c)	 Agricultural Tools Test Lab
	 (d)	 Agricultural Engineering
	 (e)	 None of these 
	 84. 	What percentage of gross income of C.G. State 

Mandi Board is deposited annually in “Farmer 
Welfare Fund” ? 

	 (a)	 5%	 (b)	 10%
	 (c)	 12% 	 (d)	 14% 
	 (e)	 None of these 
	 85. 	Which industrial park cannot be established under 

PPP model in C.G.? 
	 (a)	 Engineering Park 
	 (b)	 Food Processing Park 
	 (c)	 I.T. Park
	 (d)	 Minor forest produce based Industrial Park
	 (e)	 None of these 
	 86. 	How many “Prayas Aawasiya Vidyalaya” are 

established to provide special coaching for IIT, 
JEE, NEET, PET and CLAT competitive 
examinations to  students affected from Naxalite 
Districts of Chhattisgarh State ? 

	 (a)	 05 	 (b)	 06 
	 (c)	 07	 (d)	 08
	 (e)	 None of these 
	 87. 	From which year “Skill Development Scheme’’ is 

implemented in Chhattisgarh state? 
	 (a)	 2013	 (b)	 2014 
	 (c)	 2015	 (d)	 2016 
	 (e)	 None of these 
	 88. 	When “Tendu Leaves.Bonus Festival 2017” was 

celebrated in Chhattisgarh State?
	 (a)	 3 December to 12 December 2017 
	 (b)	 2 December to 11 December 2017
	 (c)	 1 December to 11 December 2017
	 (d)	 4 December to 13 December 2017 
	 (e)	 None of these 
	 89. 	What amount is given annually as financial aid to 

students admitted in IIT in Chhattisgarh State?
	 (a)	 Rs. 40,000	 (b)	 Rs. 50,000
	 (c)	 Rs. 60,000 	 (d)	 Rs. 30,000
	 (e)	 None of these

	83- 	jk"Vªh; Ñf"k fodkl ;kstuk esa fdls 'kkfey ugha fd;k 
x;k gS\ 

	 (a) 	feV~Vh ijh{k.k ç;ksx'kkyk

	 (b)	 moZjd xq.k fu;a=k.k ç;ksx'kkyk

	 (c)	 Ñf"k ;a=k ijh{k.k ç;ksx'kkyk

	 (d)	 Ñf"k vfHk;kaf=kdh

	 (e)	 buesa ls dksbZ ugha

	84- 	N- x- jkT; e.Mh cksMZ viuh ldy vk; dk fdruk 
çfr'kr çfro"kZ ̂ Ñ"kd dY;k.k dks"k* esa tek djrk gS\

	 (a)	 5»	 (b)	10»

	 (c)	 12»	 (d)	14»

	 (e)	 buesa ls dksbZ ugha

	85- 	NÙkhlx<+ esa PPP ekWMy ij dkSulh ikdZ dh LFkkiuk 
ugha dh tk ldrh gS\

	 (a)	 bathfu;fjax ikdZ

	 (b)	 iQqM çkslsflax ikdZ 

	 (c) 	vkbZ-Vh- ikdZ

	 (d) 	y?kq ouksit vk/kfjr vkS|ksfxd ikdZ 

	 (e)	 buesa ls dksbZ ugha

	86- 	uDly çHkkfor ftys ds cPpksa dks vkbZ-vkbZ-Vh-] ts-b-b-] 
uhV] ih-bZ-Vh- ,oa DysV dh çfr;ksxh ijh{kkvksa esa fo'ks"k 
dksfpax lqfo/k nsus ds fy;s NÙkhlx<+ esa fdrus ç;kl 
vkoklh; fo|ky; lapkfyr gS\

	 (a)	 05	 (b)	06 

	 (c)	 07	 (d)	08

	 (e)	 buesa ls dksbZ ugha

	87- 	NÙkhlx<+ esa ¶dkS'ky fodkl ;kstuk¸ fdl o"kZ ls ykxw 
gS\

	 (a)	 2013 ls	 (b) 	2014 ls

	 (c) 	2015 ls	 (d) 	2016 ls

	 (e)	 buesa ls dksbZ ugha

	88-	NÙkhlx<+ esa ¶rsUnw iÙkk cksul frgkj 2017¸ dc euk;k 
x;k\

	 (a) 	3 fnlEcj ls 12 fnlEcj 2017 

	 (b)	 2 fnlEcj ls 11 fnlEcj 2017

	 (c)	 1 fnlEcj ls 11 fnlEcj 2017 

	 (d)	 4 fnlEcj ls 13 fnlEcj 2017

	 (e)	 buesa ls dksbZ ugha

	89- 	NÙkhlx<+ esa vkbZ- vkbZ- Vh- esa çosf'kr fo|kfFkZ;ksa dks 
çfro"kZ fdruh jkf'k dh lgk;rk nh tkrh gSa\

	 (a)	 #-40]000	 (b)	#-50]000

	 (c)	 #-60]000	 (d)	#-30]000

	 (e)	 buesa ls dksbZ ugha
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	 90. 	If a candidate expired before polling in Panchayat 
election’ then what shall be happened?

	 i. 	 Polling shall be postponed. 

	 ii. 	 Polling shall not be postponed.

	 iii. 	 If remained only one candidate, then polling 
will be postponed.

	 iv. 	 If remained more than one, then polling will 
not be postponed.

	 (a)	 i, ii 	 (b)	 ii, iii 

	 (c)	 iii, iv	 (d)	 ii, iv 

	 (e)	 None of the above 

	 91. 	What is correct about Panchayat election? 
	 i. 	 There is one district election officer.

	 ii. 	 There are one or more returning officers.

	 iii. 	 State election commission appoints returning 
officer.

	 iv. 	 With the consent of commission District 
Election Officer can appoint returning 
officer. 

	 v. 	 Naib Tahsildar may be returning officer for 
Janpad Panchayat. 

	 vi. 	 Naib Tahsildar may be returning officer for 
Gram Panchayat.

	 vii. 	 Naib Tahsildar may be returning officer for 
Zilla Panchayat.

	 viii. 	 District election officer himself only 
returning officer.

	 (a)	 i	 ii 	 iii	 iv	 v 	 vi

	 (b)	 ii	 iii	 iv	 v	 vi	 vii 

	 (c)	 iii	 iv	 v	 vi 	 vii	 viii

	 (d)	 i	 iii	 iv	 v	 vii	 vii 

	 (e)	 None of the above  	

	 92. 	Who speak “Kudukh” dialect? 
	 (a)	 Karnar	 (b)	 Kol 

	 (c)	 Oraon	 (d)	 Gond 

	 (e)	 None of the above 

	 93. 	Tribe of which division, celebrate “Mati’’ festival? 
	 (a)	 Bastar division 	 (b)	 Sarguja division 

	 (c)	 Bilaspur division	 (d)	 Raipur division 

	 (e)	 None of these 

	90- 	;fn iapk;r pquko esa ernku ds iwoZ fdlh vH;FkhZ dh 

e`R;q gks tk; rks D;k gksxk\

	 i. 	ernku LFkfxr gks tk,xkA

	 ii. 	ernku LFkfxr ugha gksxk 

	 iii. 	;fn dsoy ,d vH;FkhZ 'ks"k jgs rks ernku LFkfxr 

gks tk,xkA 

	 iv. 	;fn ,d ls vf/d vH;FkhZ 'ks"k jgsa rks ernku 

LFkfxr ugha gksxkA

	 (a)	 i, ii 	 (b)	 ii, iii 
	 (c)	 iii, iv	 (d)	 ii, iv

	 (e)	 mi;ZqDr esa ls dksbZ ugha

	91- 	iapk;r pquko ds fo"k; esa lgh D;k gS\

	 i. 	,d ftyk fuokZpu vf/dkjh gksrk gSA 

	 ii. 	,d ;k vf/d fjVfuZax vf/dkjh gksrs gSaA

	 iii. 	fjVfuZax vf/dkjh dh fu;qfDr jkT; fuokZpu 

vk;ksx djrk gSA 

	 iv. 	fjVfuZax vf/dkjh dh fu;qfDr vk;ksx dh lgefr 

ls ftyk fuokZpu vf/dkjh dj ldrk gSA 

	 v. 	uk;c rglhynkj tuin iapk;r ds fy;s fjVfuZax 

vf/dkjh gks ldrk gSA

	 vi. 	uk;c rglhynkj xzke iapk;r ds fy;s fjVfuZax 

vf/dkjh gks ldrk gS A

	 vii. 	uk;c rglhynkj ftyk iapk;r ds fy;s fjVfuZax 

vf/dkjh gks ldrk gSA 

	 viii. 	ftyk fuokZpu vf/dkjh gh ,d ek=k fjVfuZax 

vf/dkjh gksrk gSA gS

	 (a)	 i	 ii 	 iii	 iv	 v 	 vi
	 (b)	 ii	 iii	 iv	 v	 vi	 vii 
	 (c)	 iii	 iv	 v	 vi 	 vii	 viii

	 (d)	 i	 iii	 iv	 v	 vii	 vii 

	 (e)	 mi;ZqDr esa ls dksbZ ugha

	92-	^dqN* cksyh dkSu cksyrs gSa\

	 (a) 	dekj	 (b)	dksy

	 (c)	 mjkao 	 (d)	xksaM

	 (e)	 buesa ls dksbZ ugha

	93- 	̂ekVh* R;ksgkj fdl laHkkx dh tutkfr;k¡ eukrh gSa\

	 (a)	 cLrj laHkkx	 (b) 	ljxqtk laHkkx

	 (c)	 fcykliqj laHkkx	 (d)	jk;iqj laHkkx

	 (e)	 buesa ls dksbZ ugha
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	 94. 	Who is famous singer of “Bnarthari Gayan” 
(song)? 

	 (a)	 Smt. Tijan Bai
	 (b)	 Smt. Surooj Bai Khande
	 (c)	 Smt. Ritu Verma
	 (d)	 Smt. Alka Chandrakar
	 (e)	 None of these 
	 95. 	What is Chhattisgarhi idioms for ‘’Lajjit hona”? 
	 (a)	 Mudi thathana	 (b)	 Mudi Patakana
	 (c)	 Mudi Gadiyana	 (d)	 Mudi Khajawana 
	 (e)	 None of these 
	 96. 	“Kondagaon” is famous for what?  
	 (a)	 Ghadawa craft	 (b)	 Iron craft
	 (c)	 Wood craft 	 (d)	 Bamboo craft 
	 (e)	 None of these 
	 97. 	What is correct about the wards committee of 

Nagar Panchayat?
 	 i. 	 Wards committee is formed with some wards 

of Nagar Panchayat.
	 ii. 	 Councillor elected from the wards become 

its member. 
	 iii. 	 Two persons are nominated in the committee 

residing in the ward.
	 iv. 	 Chairman of the wards committee is 

nominated by the President of Nagar 
Panchayat.

	 (a)	 i 	 (b)	 i, ii 
	 (c)	 i, ii, iii 	 (d)	 i, ii, iii, iv 
	 (e)	 None of the above 
	 98.	 With reference to India, Chhattisgarh comes under 

which geomorphological region?
	 (a)	 Northern plain 
	 (b)	 Peninsular upland
	 (c)	 Coastal plain
	 (d)	 Northern mountain
	 (e)	 None of the above 
	 99.	 The number of districts at interstate boundary of 

Chhattisgarh is
	 (a)	 18 	 (b)	 16 
	 (c)	 27 	 (d)	  07
	 (e)	 11 	  
	100.	 The ancient name “Nilotpala” for Mahanadi was 

stated in
	 (a)	 Matsya Puran 
	 (b)	 Markandey Puran
	 (c)	 Brahm Puran 
	 (d)	 Vayu Puran
	 (e)	 None of the above 

	94- 	HkjFkjh xk;u dh çfl¼ xkf;dk dkSu gS\

	 (a)	 Jherh rhtu ckbZ

	 (b)	 Jherh lq:t ckbZ •kaMs

	 (c)	 Jherh ½rq oekZ

	 (d)	 Jherh vydk pUækdj

	 (e)	 buesa ls dksbZ ugha

	95-	^yfTtr gksuk* dk NÙkhlx<+h eqgkojk D;k gS\

	 (a) 	eqM+h BBkuk	 (b)	eqM+h iVduk

	 (c)	 eqM+h xfM+;kuk	 (d)	eqM+h •tokuk

	 (e)	 buesa ls dksbZ ugha

	96-	^dksaMkxkao* fdlfy;s çfl¼ gS\

	 (a)	 ?kM+ok f'kYi 	 (b) 	ykSg f'kYi

	 (c) 	dk"B f'kYi	 (d) 	ckal f'kYi

	 (e)	 buesa ls dksbZ ugha

	97- 	uxj iapk;r dh okMZ lfefr ds fo"k; esa lgh D;k gS\

	 i. 	uxj iapk;r ds dqN okMks± dks feykdj okMZ 
lfefr cukbZ tkrh gSA 

	 ii. 	blesa okMZ ls fuokZfpr ik"kZn lnL; gksrs gSaA

	 iii. 	okMZ esa jgus okys nks O;fDr lfefr esa euksuhr 
fd, tkrs gSaA

	 iv. 	okMZ lfefr dk vè;{k uxj iapk;r vè;{k ds 
}kjk ukfer fd;k tkrk gSA

	 (a)	 i 	 (b)	 i, ii 
	 (c)	 i, ii, iii 	 (d)	 i, ii, iii, iv

	 (e)	 mi;ZqDr esa ls dksbZ ugha

	98- 	Hkkjr ds lanHkZ esa NÙkhlx<+ fdl HkwvkÑfrd çns'k ds 
vUrxZr vkrk gS\

	 (a) 	mÙkjh eSnku	 (b)	çk;% }hih; mPpHkwfe 

	 (c)	 rVh; eSnku	 (d)	mÙkjh ioZr

	 (e)	 mi;ZqDr esa ls dksbZ ugha

	99- 	NÙkhlx<+ esa vUrjkZT;h; lhek ij fLFkr ftyksa dh la[;k 
_____________ gS A

	 (a)	 18	 (b) 	16
	 (c)	 27	 (d)	 07

	 (e) 	 11

	100- 	egkunh dk ikSjkf.kd uke ¶uhyksRiyk¸ crk;k x;k gS

	 (a) 	ey; iqjk.k esa

	 (b) 	ekjd.Ms; iqjk.k

	 (c)	 czgk iqjk.k esa

	 (d)	 ok;q iqjk.k esa

	 (e)	 mi;ZqDr esa ls dksbZ ugha


